EARAROBREBRT —5 XN—ZXBISH—F

2022462888 (A) 17EAH?2H

I (& R C1C2 BSHR—Mg

‘(fﬁ} W ‘I%EH?’JF&] ~ | & o =

[AE%] 17 :2,000,000 § ~ 237 :800,000 . 37&:500,000H  435:300,000 . 53&:200,000 9

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— — <~ FHEE 149. -4-4- . - aER (KH)

1 7| SRRSO VR H 5 10 1(4_9)0 3-4-4-4 | 38.2 8 (4_635) St
Rib—EYISA N B:b—tYIsURY BREAM IRT«T7—L

; s 5 | FHESt 1:49.2  [10-10-11-10| 37.6 | — 1 476 | FELLBSEE (1VHR)

1 : kil 5.0 a 174 (3 |KAJIMOTOHD ()
R:NA40 #:vavudNIHoa I ANA K5

=~ o4 | REEZ 1:49.3 2-2-2-2 |38.6| — 5 509 | BB (KH)

38|16| VYAFFTTITY 57.0 (3/4) @) | BAE
RiNZ—ka—X B:IVIVITN—h WNHHKS

3~ 45 | fEEEdlE 1:49.3 5-5-5-5 |38.4| - 3 | 497 | HEZER (KH)

4510/ 7TV 57.0 N\F) o |PHRE

RIN=VITSA B:TFIIvITY HRAHt /—ZEILR
N P HEEM 1:49.4 1-1-1-1 . - 1 467 |BHEL (W)

50101 RARLALYTR R X Aty 8 * | e

RFPAIWNTF7FH— F:RU—LO-X EvIUy RI7—L4
S ~ o4 | BER 1:50.0 9-8-10-9 |38.7| - 9 | 436 |BHREEFE k)

1, BB AR 5.0 3 oy |ZmeEE

RiRyI—9ILYIT B:7ILT AT TERIS
REEREX :50. -7-6- . - FEEFEE (KH)

4 : BEA =R 650 S A E B | msr
R:iboto0—-U— 804 VPILYTFY Ele]

Sy~ — st 4 | RS 1:50.1 16-16-16-16| 37.8 | — | 12 | 449 | =IRERHE (IVHF)

88|15/ 79V 55.0 (3/4) o | BT
KR:N40 B:FRANIT7— F—=— - I\ - T7—LERR

Sy # 5 | BERK 1:50.1 13-15-15-15|38.2 | — 14 | 444 | TREETS (KH)

9[5|9| MLRI—/ 4570 FI) © | W Tr=2hevay
RTFAIWNTPFH— BIRARIZAMLT BHI7—L
= N _ B4 | BEEE 1:50.2 8-9-8-8 (39.1| — | 13 | 483 |BEH (KH)

1008 12| TAITNA A =L 5.0 ) 3 Aim=s
RiFRXF B:IY—0zL /=Y Tr—1I

» =_ o6 | ABFEX 1:50.3 4-3-3-3 [39.5| — 2 519 | IRHEH (W)
11(7]13| BT L=*3 57.0 (/4) Gy | EEE
R:7ROFVISL B:ADHZY335 =6 %5
R TS 4 5 | BENE 1:50.4 6-6-7-7 39.3| — | 11 | 514 |M&HR KH)

1288 4 | L—XVLTTVY 57.0 ) 4y |FERIE

Ribk—trya—sy B:I5Vy—- AHERIY R
_ — v 4 | BARE 1:50.4 14-11-9-11 139.2 | — 4 | 475 |PEEZ (KH)

1317114 Z2—ILN =D 57.0 F93) 3 | @ gv542
RIIRTVFULY B:TFUZT7 BAGTREESHEER S
= W e AHIESE :50. -14-14- . - =IREEEE (VHR)

1 §| FA—TFFHAY 44 e 1(75?:)5 15-14-14-14| 38.6 7 (533(; =R
RiF4—FITUSYF BiA)bx—Ya Pz ]

S = 4 | RHS 1:50.6 11-12-13-13/ 38.8 | — 6 450 | BEEL (W)

1512 | XM¥a39I95—=7 " 5.0 (3/4) 1) | B

R:FXF #:59vvy hOE [ askae]
S A — 4 7 | BIHER 1:50.6 12-13-12-12| 38.9 | - 16 479 | 3BT (A

160H 11| 7 ZN—TA b 57.0 %) (a) | EEBHEZX
R:ITSvIIFI—R B:UAII—AAR i BT

@ 11— —BBIEfI

13—7+— 1,16,7,13,10,4,6,12,3,5,2,11,9,14,8,15

20—7F— 1,16,13,7,10,4,6,3,12,5,14,2,11,8,9,15

30—7— 1,16,13,7,10,6,4,12,14,3,5,11,2,8,9,15

43— — 1,16,13,7,10,6,4,12,3,5,14,11,2,8,9,15

o ILRE

B B 7 2,040H JA R 5-7 1,050/ % 3= 3-4 1,430 3EE 5-7-16 12,690M4

7B B 7 480 7-16 4,180M B 4-3 4,260 3EH 7-5-16 99,260M

5 150M9 5-16 8504 5B & 5-7 3,070H
16 3204 =51 7-5 7,710H

ABIC OV TRUTEREERRODDZE. THRIIZEL.



